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1. Let A be a 7 x 7 matrix with row vectors a, E), c, Zl: €, f, g and with determinant equal to
20. Find the determinant of the following matrices.

(a) B is the matrix having row vectors (@ +57), (3@ + b + 5¢), b, (E —9%), ¢, 7,7
det(B)=__-100

(b) C is the matrix having row vectors (¢ + ¢), (Z) +7),(ad+7), (E — 7), e, 1.7
det(C)= _-40 .

(c) Let D is A7!. det(D)= 1/20 .

(d) Let E is AT. det(EA)= __400

(e) Let Fis 5A. det(F)= 5" x20 .

Solution :

Let’s present the matrices graphically.

Similar to 112-1 quiz 15.

page 1 of E



SOLUTION Quiz 13 P — iR BN

2. Prove or disprove the following:
(a) True The product of a sugare matrix and its adjoint is the identity matrix.

Solution :
4-3 problem 35 (g)

(b) False Let A be an n x n matrix, then det(adj(A)) = det(A)" 1.

Solution :
4-3 problem 38
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